

Date: 06.02.23

Homogeneous differential equation :- A differential equation of the form $\frac{dy}{dx} = \frac{b(x,y)}{g(x,y)}$ is said to be homogeneous if both $b(x,y)$ and $g(x,y)$ are of some degree in every term. To separate the differential w.r.t their variables we have to substitute $y = vx$ in both side of the equation then integrating both side will obtain.

Ex:-

$$(x^2 + y^2) \frac{dy}{dx} = 0$$

$$(x^2 + y^2) dx = 2xy dy$$

$$\frac{dy}{dx} = \frac{x^2 + y^2}{2xy} \text{ homogeneous}$$

$$\text{let } y = vx$$

$$\frac{dy}{dx} = v + x \cdot \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{x^2 + v^2 x^2}{2x^2 v}$$

$$= \frac{1 + v^2}{2v} \quad \frac{dv}{v} = \frac{(1 + v^2)}{2v} \cdot \frac{dx}{x}$$

$$\frac{x \, dv}{du} = \frac{(1+va)}{av} - v$$

$$= \frac{1+va - av^2}{av}$$

$$\frac{x \, dv}{du} = \frac{1-v^2}{av}$$

$$\frac{dv}{1-v^2} = \frac{du}{au}$$

$$\int \frac{dv}{1-v^2} = \int \frac{du}{u}$$

$$\int \frac{v \, dv}{1-v^2} = -\ln u + \ln c \quad \text{Let } 1-v^2 = t$$

$$\int \frac{dt}{-2v} = -\ln u + \ln c \quad \frac{dt}{dv} = \frac{dt}{dv}$$

$$\frac{2}{2} \int \frac{dt}{t} = -\ln u + \ln c \quad \frac{dt}{dv} = \frac{dt}{dv}$$

$$\ln t = -\ln u + \ln c$$

$$\ln (1-v^2) = -\ln u + \ln c$$

$$\ln (1-v^2) = -\ln u + \ln c$$

$$\ln \left(1 - \frac{y^2}{u^2}\right) = \ln \frac{c}{u}$$

$$\frac{u^2 - y^2}{u^2} = \frac{c}{u}$$

$$u^2 - y^2 = cu$$

$$y^2 = u^2 - cu$$

Exercise - 29 (c)

Q) $(xy) dy + (u-y) du = 0$

Ans → Given equation can be written as

$$\frac{dy}{du} = \frac{u-y}{xy}$$

This is]

$$(xy) dy = -(u-y) du$$

$$\frac{dy}{du} = -\frac{(u-y)}{xy}, \text{ homogeneous}$$

$$\text{Let } y = vx$$

$$\begin{aligned} \frac{dy}{du} &= v + \frac{dv}{du} \cdot x \\ &= v + x \frac{dv}{du} \end{aligned}$$

$$v + x \frac{dv}{du} = -\frac{(u-y)}{xvy}$$

$$x \cdot \frac{dv}{du} = -\frac{u+vx}{x+vx} - v$$

$$= \frac{-u+vx - vx - v^2x}{x+vx}$$

$$= \frac{-v^2x - u}{x+vx}$$

$$= \frac{-u(1+v)}{x(1+v)}$$

$$\int \frac{(1+v) dv}{(v^2+1)} = \int \frac{du}{u}$$

$$\begin{cases} \text{let } v^2+1 = t \\ 2v = \frac{dt}{dv} \\ v dv = \frac{dt}{2} \end{cases}$$

$$\int \frac{dv}{v^2+1} + \int \frac{v dv}{v^2+1} = -\ln u + c \quad v dv = \frac{dt}{2}$$

$$\tan^{-1} v + \frac{1}{2} \int \frac{dt}{t} = -\ln u + c$$

$$\tan^{-1} v + \frac{1}{2} \ln (v^2+1) = -\ln u + c$$

$$\tan^{-1} v + \ln \sqrt{v^2+1} = -\ln u + c$$

$$\tan^{-1} v = -\ln u - \ln \sqrt{v^2+1} + c$$

$$= - \left\{ \ln u + \ln \sqrt{v^2+1} \right\} + c$$

$$-\tan^{-1} y = \ln \sqrt{y^2+1} + c$$

$$\tan^{-1} y = \ln \sqrt{y^2+1} + c$$

$$\ln \sqrt{y^2+1} + \tan^{-1} y + c = 0$$

$$\frac{dy}{dx} = \frac{1}{2} \left(\frac{y}{x} + \frac{y^2}{x^2} \right)$$

$$= \frac{1}{2} \left(\frac{xy + y^2}{x^2} \right), \text{homogeneous}$$

$$\text{let } y = vx$$

$$v + x \frac{dv}{dx} = \frac{dy}{dx}$$

$$v + x \frac{dv}{dx} = \frac{1}{2} \left(\frac{xy + y^2}{x^2} \right)$$

$$x \frac{dv}{dx} = \frac{1}{2} \left\{ \frac{xy + y^2}{x^2} \right\} - v$$

$$= \frac{u y + y^2}{2u^2} - v$$

$$= \frac{u v u + v^2 u}{2u^2} - v$$

$$= \frac{v u^2 + v^2 u - 2v u^2}{2u^2}$$

$$= \frac{u^2 (v + v^2 - 2v)}{2u^2}$$

$$u \frac{dv}{du} = \frac{v^2 - v}{2}$$

$$\frac{dv}{v^2 - v} = \frac{du}{u}$$

$$\int \frac{dv}{v^2 - v} = \int \frac{du}{u}$$

$$\int \frac{dv}{v^2 - v} = \frac{1}{2} \ln u + \ln C$$

$$\int \frac{dv}{v(v-1)} = \frac{1}{2} \ln u + \ln C$$

$$\int \left(\frac{1}{v-1} - \frac{1}{v} \right) dv = \frac{1}{2} \ln u + \ln C$$

$$\int \frac{dv}{v-1} - \int \frac{dv}{v} = \ln \sqrt{u} + \ln C$$

$$\ln(v-1) = \ln C \sqrt{u}$$

$$\ln \frac{y}{u} - 1 = \ln C \sqrt{u} \Rightarrow \frac{y-u}{y} = C \sqrt{u}$$

$$y - u = cyu$$

$$(3) (u^2 - y^2) du + 2xy dy = 0$$

$$(u^2 - y^2) du = -2xy dy$$

$$-2xy dy = (u^2 - y^2) dy$$

$$\frac{dy}{du} = - \frac{(u^2 - y^2)}{2xy} \quad \text{homogeneous}$$

$$\text{Let } y = vu$$

$$v + u \frac{dv}{du} = \frac{dy}{du}$$

$$v + u \frac{dv}{du} = - \frac{(u^2 - y^2)}{2xy}$$

$$u \frac{dv}{du} = - \frac{(u^2 - v^2 u^2)}{2uv^2 u}$$

$$= - \frac{u^2 + v^2 u^2 - v^2 u^2}{2uv^2 u}$$

$$= \frac{(1 - v^2)}{2v}$$

$$\frac{dv}{(1 - v^2)} = \frac{du}{u}$$

$$\int \frac{dv}{1 - v^2} = \int \frac{du}{u}$$

$$\int \frac{dt}{t} = -\ln u + \ln c$$

$$\left(\begin{array}{l} \text{Let } 1 + v^2 = t \\ dv = \frac{dt}{2v} \\ dv \cdot dv = dt \end{array} \right)$$

$$\ln t = -\ln u + \ln c$$

$$\ln(1+u^2) = -\ln u + \ln c$$

$$\ln\left(1 + \frac{y^2}{u^2}\right) = -\ln u + \ln c$$

$$\ln \frac{u^2 + y^2}{u^2} + \ln u = \ln c$$

$$\ln \frac{u^2 + y^2}{u^2} \cdot u = \ln c$$

$$\ln \frac{(u^2 + y^2)u}{u^2} = \ln c$$

$$\frac{u^2 + y^2}{u} = c$$

$$u^2 + y^2 = cu$$

$$(4) \quad u \frac{dy}{du} + \sqrt{u^2 + y^2} = y$$

$$u \frac{dy}{du} = y - \sqrt{u^2 + y^2}$$

$$\frac{dy}{du} = \frac{y - \sqrt{u^2 + y^2}}{u}$$

$$\text{Let } y = vu$$

$$\frac{dy}{du} = v + u \frac{dv}{du}$$

$$v + u \frac{dv}{du} = \frac{vu - \sqrt{u^2 + v^2 u^2}}{u}$$

$$u \frac{dv}{du} = \frac{vu - \sqrt{u^2(1+v^2)}}{u} - v$$

$$= \frac{vu - u\sqrt{1+v^2} - vu}{u}$$

$$u \frac{dv}{du} = \frac{-u\sqrt{1+v^2}}{u}$$

$$\frac{dv}{\sqrt{1+va}} = -\frac{du}{u}$$

$$\ln(v + \sqrt{1+va}) = -\ln u + \ln c$$

$$\ln\left(\frac{y}{u} + \sqrt{\frac{ya}{ua} + 1}\right) = \ln \frac{c}{u}$$

$$\ln\left(\frac{y}{u} + \sqrt{\frac{ya+ua}{ua}}\right) = \ln \frac{c}{u}$$

$$\frac{y + \sqrt{ya+ua}}{u} = \frac{c}{u}$$

$$\sqrt{ya+ua} = c - y$$

$$(5) u(uy) dy = (ua + ya) du$$

$$\frac{dy}{du} = \frac{ua + ya}{u(uy)}$$

$$\text{let } y = v$$

$$\frac{dy}{du} = v + u \frac{dv}{du}$$

$$v + u \frac{dv}{du} = \frac{ua + ya}{u(uy)}$$

$$u \frac{dv}{du} = \frac{ua + va}{ua + va} - v$$

$$u \frac{dv}{du} = \frac{ua + va}{ua + va} - v$$

$$= \frac{ua + va - v(ua + va)}{ua + va}$$

$$= \frac{ua - va}{ua + va}$$

$$u \frac{dv}{du} = \frac{2(1-v)}{2(1+v)}$$

$$\frac{dv}{1+v} = \frac{du}{u}$$

$$\int \frac{(1+v) dv}{1-v} = \int \frac{du}{u}$$

$$\int \frac{dv}{1-v} + \int \frac{v dv}{1-v} = \ln u + C$$

Let $1-v=t$
 $-1 = \frac{dt}{dv}$
 $dv = -dt$

$$\int \frac{dv}{1-v} - \int \frac{1-v+1}{1-v} dv = \ln u + C$$

$$\ln(1-v) - \int dv + \int \frac{dv}{1-v} = \ln u + C$$

$$\ln(1-v) - v + \ln(1-v) = \ln u + C$$

$$\ln(1-v) - v = \ln u + C$$

$$\ln\left(1 - \frac{y}{n}\right) - \frac{y}{n} = \ln u + C$$

$$\ln\left(\frac{n-y}{n}\right) - \frac{y}{n} = \ln u + C$$

$$-\frac{y}{n} = \ln \frac{n}{(n-y)} + C$$

$$\frac{y}{n} = \ln \frac{n}{(n-y)} + C$$

$$e^{\frac{y}{n}} = \frac{n}{C} u = e^{\frac{y}{n}} C (n-y)^2$$

(b)

$$y \frac{dy}{du} = uy \frac{dy}{du}$$

$$n \frac{dy}{du} - uy \frac{dy}{du} = -y^2$$

$$(ux - uy) \frac{dy}{dx} = -y^2$$

$$\frac{dy}{dx} = \frac{-y^2}{ux - uy}$$

$$\text{let } y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{-v^2 ux}{ux - vx}$$

$$\frac{ux - vx}{ux - vx} = \frac{-v^2 ux}{ux(1-v)}$$

$$x \frac{dv}{dx} = \frac{-v^2 ux}{ux(1-v)} - v$$

$$x \frac{dv}{dx} = \frac{-v^2 - v + v^2}{1-v}$$

$$\frac{(1-v) dx}{v} = -\frac{dx}{v}$$

$$\int \frac{dx}{v} - \int \frac{v dx}{v} = -\ln u + C$$

$$\ln v - v = \ln u + C$$

$$-v = \ln u - \ln v + C$$

$$v - \frac{y}{x} = \ln \frac{u}{y} + C$$

$$\frac{y}{x} = -\ln \frac{u}{y} + C$$

$$\frac{y}{x} = \ln y + C$$

$$-\frac{x}{y} = \ln \frac{cy}{x^2}$$

$$7/ \quad u \sin \frac{y}{u} dy = \left(y \sin \frac{y}{u} = u \right) du$$

$$\frac{dy}{du} = \frac{y \sin \frac{y}{u} - u}{u \sin \frac{y}{u}}$$

$$\text{Let } y = vu$$

$$\frac{dy}{du} = v + u \frac{dv}{du}$$

$$v + u \frac{dv}{du} = \frac{y \sin \frac{y}{u} - u}{u \sin \frac{y}{u}}$$

$$u \frac{dv}{du} = \frac{y \sin \frac{y}{u} - u}{u \sin \frac{y}{u}} - v$$

$$= \frac{vu \sin v - u}{u \sin v} - v$$

$$= \frac{vu \sin v - u - vu \sin v}{u \sin v}$$

$$u \frac{dv}{du} = \frac{-u}{u \sin v}$$

$$u \frac{dv}{du} = -\operatorname{cosec} v$$

$$\int \frac{dv}{-\operatorname{cosec} v} = \int \frac{du}{u}$$

$$\int -\sin v dv = \ln u + C$$

$$\cos v = \ln u + C$$

$$\cos \left(\frac{y}{u} \right) = \ln u + C$$

$$\ln u = \cos \left(\frac{y}{u} \right) + C$$

$$x dy - y dx = \sqrt{x^2 + y^2} \cdot du$$

$$x dy = \sqrt{x^2 + y^2} \cdot du + y dx$$

$$x dy = (\sqrt{x^2 + y^2} + y) du$$

$$\frac{dy}{du} = \frac{(y + \sqrt{x^2 + y^2})}{x}$$

$$\text{Let } y = vx$$

$$\frac{dy}{du} = v + u \frac{dv}{du}$$

$$v + u \frac{dv}{du} = \frac{y + \sqrt{x^2 + y^2}}{x}$$

$$\begin{aligned} \frac{u dv}{du} &= \frac{y + \sqrt{x^2 + y^2}}{x} - v \\ &= \frac{vx + \sqrt{x^2 + v^2 x^2}}{x} - v \\ &= \frac{\cancel{vx} + \sqrt{x^2(1+v^2)}}{x} - \cancel{vx} \\ &= \frac{\sqrt{1+v^2}}{u} - vx \end{aligned}$$

$$u \frac{dv}{du} = \frac{\sqrt{1+v^2}}{u} - vx$$

$$\int \frac{dv}{\sqrt{1+v^2}} = \int \frac{du}{u}$$

$$\ln |v + \sqrt{1+v^2}| = \ln u + \ln c$$

$$\ln \frac{y}{x} + \sqrt{\frac{y^2}{x^2} + 1} = \ln c u$$

$$\ln \frac{y}{x} + \sqrt{\frac{y^2 + x^2}{x^2}} = \ln c u$$

$$\frac{y}{x} + \sqrt{\frac{y^2 + x^2}{x^2}} = cu$$

$$y + \sqrt{y^2 + x^2} = cu^2$$

$$y + \sqrt{u^2 + y^2} = cu^2$$

Date of a.g.y

$$\frac{dy}{du} = \frac{y - u + 1}{y + u + 5}$$

$$\frac{a_1}{a_2} = -2, \quad \frac{b_1}{b_2} = 2$$

$$u = u + h, \quad y = y + k$$

$$\frac{dy}{du} = \frac{y + k - u - h + 1}{y + k + u + h + 5}$$

$$\frac{dy}{du} = \frac{y + k - u - h + 1}{y + k + u + h + 5}$$

$$\frac{dy}{du} = \frac{y - u}{y + u}, \quad \text{homogeneous } y - h + 1 = 0$$

$$y = vx$$

$$\frac{dy}{du} = v + x \frac{dv}{du}$$

$$y + h + 5 = 0$$

$$y + h = -5 - 5$$

$$y = -3$$

$$h = -2$$

$$v + u \frac{dv}{du} = \frac{v - u}{v + u} = \frac{u(v - 1)}{u(v + 1)}$$

$$u \frac{dv}{du} = \frac{v-1}{v+1} - v = \frac{v-1-v^2-v}{v+1}$$

$$\int \frac{v+1}{v^2+1} dv = - \int \frac{du}{u}$$

$$\int \frac{v dv}{v^2+1} + \int \frac{dv}{v^2+1} = - \ln u + c$$

$$\int \frac{dt}{2t} + \int \frac{dv}{v^2+1} = - \ln u + c \quad \begin{cases} \text{Let } v^2+1 = t \\ 2v = \frac{dt}{dv} \\ v dv = \frac{dt}{2} \end{cases}$$

$$\frac{1}{2} \ln t + \tan^{-1} v = - \ln u + c$$

$$\frac{1}{2} \ln (v^2+1) + \tan^{-1} v = - \ln u + c$$

$$\ln \sqrt{\left(\frac{y^2}{u^2} + 1\right)} + \tan^{-1} v = - \ln u + c$$

$$\ln \sqrt{\frac{y^2 + u^2}{u^2}} + \tan^{-1} \frac{y}{u} = c$$

$$\ln \sqrt{\frac{y^2 + u^2}{u^2}} + \tan^{-1} \frac{y}{u} = c$$

$$\ln \sqrt{\frac{y^2 + u^2}{u^2}} + \tan^{-1} \frac{y}{u} = c$$

$$\ln \sqrt{(y-u)^2 + (u-1)^2} + \tan^{-1} \frac{y}{u-1} = c$$

$$= \ln \sqrt{(y - (-3))^2 + (u - (-2))^2} + \tan^{-1} \frac{y}{u - (-2)} = c$$

$$= \ln \sqrt{(y+3)^2 + (u+2)^2} + \tan^{-1} \frac{y}{u+2} = c$$

$$\text{10/ } (u-y) dy = (u+y+1) du$$

$$\frac{dy}{du} = \frac{u+y+1}{u-y}$$

$$\frac{a_1}{a_2} = 1, \frac{b_1}{b_2} = -1$$

$$\begin{cases} \frac{a_1}{a_2} = \frac{u}{u} = 1 \\ \frac{b_1}{b_2} = \frac{y}{-y} = -1 \end{cases}$$

$$u = x+h, \quad y = y+k$$

$$\frac{dy}{du} = \frac{dy}{du}$$

$$\frac{dy}{du} = \frac{x+h + y+k + 1}{x+h - y - k}$$

$$= \frac{x+y}{x-y} \quad \text{homogeneous}$$

$$y = vu$$

$$h-k=1$$

$$h-k=0$$

$$\frac{dy}{du} = v + u \frac{dv}{du}$$

$$2h = -1$$

$$h = -\frac{1}{2}$$

$$k = -\frac{1}{2}$$

$$v + u \frac{dv}{du}$$

$$= \frac{x+y}{x-y} - v$$

$$u \frac{dv}{du}$$

$$= \frac{u+v}{u-v} - v$$

$$= \frac{x+y+u+v}{u-v} - v$$

$$= \frac{u(1+v)}{u(1-v)}$$

$$\int \frac{(1-v) dv}{1+v^2} = \int \frac{du}{u}$$

$$\int \frac{dv}{1+v^2} - \int \frac{v dv}{1+v^2} = \int \frac{du}{u}$$

$$\tan^{-1} v - \frac{1}{2} \ln(1+v^2) = \int \frac{du}{u}$$

$$\tan^{-1} \frac{y}{u} - \frac{1}{2} \ln\left(\frac{1+y^2}{u^2}\right) = \ln u$$

Date: 08.09.23

(10)

$$\tan^{-1} \frac{y}{u} = \ln \sqrt{u^2 + y^2}$$

$$\Rightarrow \tan^{-1} \frac{y}{u} = (\ln \sqrt{u^2 + y^2}) = \ln u + \ln c$$

$$\Rightarrow \tan^{-1} \frac{y}{u} - \ln \sqrt{u^2 + y^2} = \ln u + \ln c$$

$$\Rightarrow \tan^{-1} \frac{y}{u} - \ln \sqrt{u^2 + y^2} + \ln u = \ln u + \ln c$$

$$\Rightarrow \tan^{-1} \frac{y}{u} = \ln c$$

$$\Rightarrow \tan^{-1} \frac{y}{u} = \ln c \sqrt{u^2 + y^2}$$

$$\Rightarrow \tan^{-1} \frac{y + \frac{1}{2}}{u - \frac{1}{2}} = \ln c \sqrt{(u - \frac{1}{2})^2 + (y + \frac{1}{2})^2}$$

$$\text{ii/ } (u - y - 2) du + (u - 2y - 3) dy = 0$$

Ans: Given equation can be written as

$$\frac{dy}{du} = \frac{u - y - 2}{u - 2y - 3} \quad (1)$$

put $u = u + h$ and $y = y + k$

$$\text{So that } \frac{dy}{du} = \frac{dy}{dx}$$

Thus (1) is reduced to

$$\frac{dy}{dx} = \frac{(u - y) + (h - k - 2)}{(u - 2y) + (h - 2k - 3)} \quad (2)$$

Choose $h = k$ such that

$$h - k - 2 = 0 \text{ and } h - 2k - 3 = 0$$

Subtracting we get

$$2k + 3 - k - 2 = 0 \Rightarrow k = -1$$

Again $h=2$

Thus (2) is reduced to

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

Thus we have

$$v + x \frac{dv}{dx} = - \frac{x - vx}{x - 2vx} = - \frac{1-v}{1-2v}$$

$$\Rightarrow x \frac{dv}{dx} = - \left(\frac{1-v}{1-2v} + v \right)$$

$$= - \frac{1-v+v-2v^2}{1-2v} = - \frac{1-2v^2}{1-2v}$$

$$\Rightarrow \frac{1-2v^2}{1-2v} dv = - \frac{dx}{x}$$

$$\Rightarrow \int \frac{1-2v^2}{1-2v} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \int \frac{1}{1-2v} dv - \int \frac{2v^2}{1-2v} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \int \frac{dv}{(1+\sqrt{2}v)(1-\sqrt{2}v)}$$

$$+ \frac{1}{2} \int \frac{4v^2}{1-2v} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \frac{1}{2} \int \left\{ \frac{1}{1+\sqrt{2}v} + \frac{1}{1-\sqrt{2}v} \right\} dv$$

$$\frac{1}{2} \int \left\{ \frac{1}{1+\sqrt{2}v} + \frac{1}{1-\sqrt{2}v} \right\} dv = - \ln x + C$$

$$\Rightarrow \frac{1}{2} \cdot \frac{1}{\sqrt{2}} \ln \frac{1+\sqrt{2}v}{1-\sqrt{2}v} + \frac{1}{2} \ln (1-2v^2) = - \ln x + C$$

$$\Rightarrow \frac{1}{2\sqrt{2}} \ln \frac{1+\sqrt{2} \frac{y}{x}}{1-\sqrt{2} \frac{y}{x}} + \frac{1}{2} \ln \left(1-2 \frac{y^2}{x^2} \right)$$

$$z = -\ln x + c$$

$$\Rightarrow \frac{1}{2\sqrt{a}} \ln \frac{x+\sqrt{a}x}{x-\sqrt{a}x} + \frac{1}{a} \ln \frac{u^2 - a^2}{x^2}$$

$$\Rightarrow \frac{1}{2\sqrt{a}} \ln \left(\frac{x+\sqrt{a}x}{x-\sqrt{a}x} \right) + \ln \left(\sqrt{\frac{u^2 - a^2}{x^2}} \cdot x \right) = c$$

$$\Rightarrow \frac{1}{2\sqrt{a}} \ln \frac{x+\sqrt{a}x}{x-\sqrt{a}x} + \ln(\sqrt{x^2 - a^2}) = c$$

$$\because x = u - h = u - 1$$

$$y = v + k = y + 1$$

$$\Rightarrow \frac{1}{2\sqrt{a}} \ln \left[\frac{(u-1) + \sqrt{a}(y+1)}{(u-1) - \sqrt{a}(y+1)} \right] + \ln \sqrt{(u-1)^2 - a(y+1)^2} = c$$

This is the required solution.

$$(18) \quad \frac{du}{dy} = \frac{3y - 7y + 7}{3y - 7u - 3}$$

Ans: Given eqn. can be written as

$$\frac{dy}{du} = \frac{3y - 7y + 7}{3y - 7u - 3}$$

$$\frac{dy}{du} = \frac{3y - 7u - 3}{3y - 7u - 3}$$

proceeding as in Q. 11 we get

$$\frac{dy}{dx} = \frac{3y - 7x}{3x - 7y} \quad \text{--- (1)}$$

Where $3k - 7h - 3 = 0$

and $3h - 7k + 1 = 0 \Rightarrow 7h - 3k + 3 = 0$

and $3h - 7k + 1 = 0$

Solving $\frac{h}{-22+21} = \frac{k}{9-49} = \frac{1}{-49+9}$

$\Rightarrow \frac{h}{0} = \frac{k}{-40} = \frac{1}{-40}$

$\Rightarrow [h=0, k=1]$

Again putting $y = vx$ and proceeding as in

we get $vt + x \frac{dv}{dx} = \frac{3v-7}{3-7v}$

$\Rightarrow x \frac{dv}{dx} = \frac{3v-7}{3-7v} - v$
 $= \frac{3v-7-3vt+7v^2}{3-7v}$
 $= \frac{-7+7v^2}{3-7v} = -\frac{7-7v^2}{3-7v}$

$\Rightarrow \frac{3-7v}{7-7v^2} dv = \frac{dx}{x}$

$\Rightarrow \frac{3}{7} \int \frac{dv}{1-v^2} - \int \frac{v}{1-v^2} dv = -\int \frac{dx}{x}$

$\Rightarrow \frac{3}{14} \int \left\{ \frac{1}{1+v} + \frac{1}{1-v} \right\} dv + \frac{1}{2} \int \frac{-2v}{1-v^2} dv = -\int \frac{dx}{x}$

$\Rightarrow \frac{3}{14} \ln \left(\frac{1+v}{1-v} \right) + \frac{1}{2} \ln (1-v^2) = -\ln x + C$

$\Rightarrow \frac{3}{14} \ln \left(\frac{u+y}{u-y} \right) + \ln \frac{\sqrt{u^2-y^2}}{u} + \ln u = C$

$\Rightarrow \frac{3}{14} \ln \left(\frac{u+y}{u-y} \right) + \ln \sqrt{u^2-y^2} = C$

$\Rightarrow \frac{3}{14} \ln \left(\frac{u+y}{u-y} \right) + \ln \sqrt{u^2(y-1)^2 + 1} = C$

This is the required solution.

$$\begin{cases} x = u - y = u \\ y = y - k = y - 1 \end{cases}$$

12) (i) $xy + 1$ and $(xy - 1) dy = 0$
 Given eqn can be written as.

$$\frac{dy}{dx} = - \frac{xy + 1}{xy - 1}$$

$$= \frac{(xy) + 1}{(xy) - 1} \quad \text{--- (1)}$$

but $xy = z$

Then $z + \frac{dy}{dx} = \frac{dz}{dx}$

These reduced to $\frac{dz}{dx} = \frac{z}{z-1} - 2$

$$\Rightarrow \frac{dz}{dx} = \frac{z - 2(z-1)}{z-1} = \frac{z - 2z + 2}{z-1} = \frac{-z + 2}{z-1}$$

$$\Rightarrow \frac{z-2}{z-1} dz = dx \Rightarrow \frac{z-1-1}{z-1} dz = dx \Rightarrow \frac{z-1}{z-1} dz - \frac{1}{z-1} dz = dx$$

$$\Rightarrow \frac{z-1}{z-1} dz - \frac{1}{z-1} dz = dx \Rightarrow dz - \frac{1}{z-1} dz = dx$$

$$\Rightarrow \int \left\{ 1 + \frac{1}{z-1} \right\} dz = \int dx$$

$$\Rightarrow z + \ln(z-1) = x + c$$

$$\Rightarrow (xy) + \ln(xy-1) = x + c$$

$$\Rightarrow (xy) + \ln(xy-1) = c$$

This is the required solution.

$$14 \quad (2x - 3y - 5) \frac{dy}{dx} + 3x + 2y - 5 = 0$$

Given equation can be written as

$$\frac{dy}{dx} = - \frac{3x + 2y - 5}{2x - 3y - 5} \quad \text{--- (1)}$$

put $x = u + h$ and $y = v + k$

So that $\frac{dy}{dx} = \frac{dv}{du}$

Thus (1) become

$$\frac{dv}{du} = - \frac{(2u + 2v) + (3h - 3k - 5)}{(2u + 2v) + (2h - 2k - 5)}$$

[Choose h and k such that $2h + 2k - 5 = 0$ and $3h - 3k - 5 = 0$]

Solving we get

$$\frac{h}{-10 + 15} = \frac{k}{-10 + 15} = \frac{1}{9 - 9}$$

$$\Rightarrow \frac{h}{5} = \frac{k}{5} = \frac{1}{0} \Rightarrow h = k = 1$$

Then we have $\frac{dy}{dx} = - \frac{3x + 2y}{2x + 3y}$

put $y = vx$

Then $\frac{dy}{dx} = v + x \frac{dv}{dx}$

Thus we have

$$v + u \frac{dv}{dx} = - \frac{3u + 3vu}{3u + 3v} = - \frac{3 + 3v}{3 + 3v}$$

$$\Rightarrow x \frac{dv}{du} = - \frac{3 + 3v}{3 + 3v} - v$$

$$= - \int \frac{3 + 3v + 3v^2}{3 + 3v} dv$$

$$= - \frac{3 + 4v + 3v^2}{3 + 3v}$$

$$\Rightarrow \frac{3 + 3v}{3 + 4v + 3v^2} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \int \frac{3 + 3v}{3 + 4v + 3v^2} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \frac{1}{3} \int \frac{3v + 4}{3v^2 + 4v + 3} dv = - \int \frac{dx}{x}$$

$$\Rightarrow \frac{1}{3} \ln(3v^2 + 4v + 3) = - \ln x + \ln C$$

$$\Rightarrow \ln \sqrt{3v^2 + 4v + 3} = \ln \frac{C}{x}$$

$$\Rightarrow \sqrt{3v^2 + 4v + 3} = \frac{C}{x}$$

$$\Rightarrow \sqrt{3 \frac{y^2}{x^2} + 4 \frac{y}{x} + 3} = \frac{C}{x}$$

$$\Rightarrow \sqrt{3y^2 + 4xy + 3x^2} = \frac{C}{x}$$

$$\Rightarrow \sqrt{3y^2 + 4xy + 3x^2} = C$$

Squaring both sides we get

$$3y^2 + 4xy + 3x^2 = C^2 = c$$

$\therefore$ The solution is

$$3(y-1)^2 + 4(x-1)(y-1) + 3(x-1)^2 = c$$

$$(15) (4x+8y-5) dx - (2x+3y+4) dy = 0$$

Ans: Given equation can be written as

$$\frac{dy}{dx} = \frac{4x+8y+5}{2x+3y+4} = \frac{2(2x+3y)+5}{(2x+3y)+4} \quad (1)$$

$$\text{Let } 2x+3y = z$$

$$\text{Then } 2+3 \frac{dz}{dx} = \frac{dz}{dx} \text{ or } \frac{dy}{dx} = \frac{\frac{dz}{dx} - 2}{3}$$

putting these in (1) we get

$$\frac{\frac{dz}{dx} - 2}{3} = \frac{2z+5}{z+4}$$

$$\Rightarrow \frac{dz}{dx} = \frac{8z+15}{z+4} + 2$$

$$= \frac{8z+15+2z+8}{z+4} = \frac{10z+23}{z+4}$$

$$\Rightarrow \frac{z+4}{10z+23} dz = dx$$

$$\Rightarrow \int \frac{z+4}{10z+23} dz = \int dx$$

$$\Rightarrow \frac{1}{8} \int \frac{(10z+23)+9}{10z+23} dz = \int dx$$

$$\Rightarrow \int \left\{ 1 + \frac{9}{10z+23} \right\} dz = 8 \int dx$$

$$\Rightarrow z + \frac{9}{8} \ln(10z+23) = 8x+c$$

$$\Rightarrow 2x+3y + \frac{9}{8} \ln(2(2x+3y)+23) = 8x+c$$

$$\rightarrow \text{Integ} 3y + \frac{1}{8} \ln(18x + 24y + 23) = \text{Integ} C$$

$$\rightarrow 3y - \text{Integ} \frac{1}{8} \ln(18x + 24y + 23) = C$$

This is the required solution.